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@4x2+4x—15:(x—3)(4x+5)

® x?-14x+49= (x-7)?

@ 4x% + 4x - 15 = (2x - 3)(2x + 5)




16. b5 H7] T &2 A< BF A=Y

@ (b-2a)* = (2a - b)?
© a®>-b*>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

® 4ab-1= (2a+1)(2b-1)

® @0 @o.© ® e e
® 0,60 600

©a?-b?>=(a+b)(a-b)
@ 4ab—-2a-2b+1=(2a-1)(2b-1)




el

52
)

@ (;

5
2

5

—x—§

2
Zax- 2

“5
2
)

@)
@

5 2
)

2
Zx==
5

-

25
4

l_l
o]
S

N

|
™




18. 24 py+q 7t SRAZA] 57] $I5k p, ¢ O] BAAL?

[\v]

<
I
0|
(®)
Q
I
|
[laS]

© ©
i

IS
NG~
©

olxgre] A47H 1 A W, ARFRFO] AS] Wuke] AFo] A4
ao] wojof A F4lo] e,

metd g = () ole.




19, 322 4 3r-12 2 Q2B 409

@ g(x—Z)(x—4) @;(x—2)(x+4)
©) %(3x—2)(x+4) @ %(x—Q)(3x+4)
® g(x+2)(x+4)
(#4) = % (x2 + 2x-8)
= (-2 (x+9)




] it e BEQ)

@x2—|—x—6

o =
K3

=

20. ¢t

® 2x24+7x+6

@ x%2-4

® 3x2+Tx+2

@ 2x% +3x-2

oy

o

)

ol

pu

)

e

1jo

_:_I

i

0|

)

[N}
N+
N T
Tt = H =
S r DI
\l/\l/3\L/1]
e £ D
| —
2rdd8y
QOO H




